EARAROBEEIERT — 2 N— IBISH —F

2014548268 (+) 2EEE1H

INMC2—20# C2 ¥5%R4mkE (xwlw | lmEmml - |5 ) w8
[AE£] 1% :110,000"  23%&:2500M”  33%&:10,000 M  43%&:6,000 3 ~ 53 :3,000H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
SN W& 126. -1-1- . — AE—K (£H)
1 MPEPEE B4 uTE 1(2_6)4 1-1-1-1 | 39.5 2 <4+814) e ]
L:xoina0— B:JL—LA2 KRy ISCE-¥/3
S = . it 4 | BEE—ER 1:26.8 2-2-2-2 | 39.8| — 1 423 | IIEZEF (1£8)
olglg|P>TL—X 54.0 @) © | Ak
L:ARTA MR B:T75T7—429— RS
s — A o4 | AVASC 1:26.9 4-3-3-3 [39.2| — 7 458 | KEEBEA (1£89)
31| |JAF =27 .0 (1/2) by | ) E-zrT
L:aZ /XLy b BIIAAFTE=N AXRETa—-T7—L
TN s : ~6-5- — hEFE (E8)
4 3| FEhtEEY LI o 1.(257).9 5-6-5-5 | 39.6 8 (4_723; A
Ry TELRAVF— B2/ TL—Fb pllibse]
. mAEH :28. -5-6- 8] - THER (EH)
5155 VA% A A "6 56.0 1(12/82)0 6566 | .8 ° :iQ) EEEEH .
L:O—-J X121 B2 A Fv—H1AFK TRELDARS
2L # 5 | HREA 1:28.4 3-4-4-4 | 40.8| — 3 443 | BEARBE (£H)
6l7l 7| TxI> 56.0 @ © |BB=mE .
L:Z2ZAR AR BT TR— 55 Kiig
N . s el :28. ~7-7- . - AT (1£8)
7 gl avre=lyy o 54.0 (12218/2% A o 3_263) iﬁtﬁwg .
RTHINEry b BivavFiduF— hRAS
. alEs . _8-8— — AIEX (B8)
8 6| THIFTILLF i 5 2l 1(/72?:5) 8-8-8-8 | 40.1 4 (4:115) AmeX
R:THIYFLIL BFUET2TY— e
@ 1—F—@&BIEf
1a—74— 2,8,7,1,3,5,4,6
Aol=5r= 2,8,1,7,5,3,4,6
30—7+— 2,8,1,7,3,5,4,6
43—+ — 2,8,1,7,3,5,4,6
[ RN
B OB 2 260M 714K 2-8 300M B E 2-8 420M &R 1-2-8 5,780
7 B 2 150 1-2 1,350 | | BB B 2-8 1,010/ | | 3&=& 2-8-1 18,770/
8 140 1-8 1,710
1 430M

ABICOVWTRDTEEERROODE. TR LIV,




